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The number of prime numbers 1 to 100 is?

NUMBER SYSTEM PRACTICE QUESTIONS

1. In atest of 25 questions (+4) 1.74 2.68 3.72 4.70
marks are given for every Ans:4
correct answer and (-2) ma  Sol: the number of integers
rks are given for every inco betweenn? and (n+1)? is 2n So,
rrect answer. Sunitha attem number of integers lic bet ween
pted all questions and 352 and 36"2 = 2(35) = 70.
gets a score of 76, then the 7. The difference between the
number of correct answers L.C.M and H.C.F. of two
attempted by her is? numbers is 133. If the
1.23 2.21 3.20 422 L.CM. is 20 times the

Ans:2 H.C.F. and one of the

Sol: Let the number of correct numbers is 35, then the
answered questions = X, inco other number is?
rrect answered questions = 1.20 2.25 3.42 4.28
25-x according to the given Ans:4
sum 4x +(-2)(25-x) =76=>4x  Sol:Given the difference between
-50 +2x =76=>6x = LCM and HCF = 133
126 =>x =21 =>LCM-HCF=133 and

2. The number of prime LCM = 20xHCF, one number
numbers 1 to 100 is? —

1.20 223 => 35 XX=140 X 7 => .‘(=T=28,
3.25 424  Ans:3 8. The difference between the

Sol:Prime numbers 1 to100 are2,

3,5,7,11,13,17,19,23,29, 31,
37,41,43,47,53,59,61, 67,71,

greatest and the smallest 5-
digit number formed by the
digits 6, 2, 0, 3 and 8 is?

73,79,83,89,97.They are 25 in 1.65952 2. 64952
number. 3. 64852 4.65852
3. The number of rational num Ans:1

bers between 1 to 100 is?

1. 100 2.993.

101 4 Infinite
Ans:4

Sol:There are infinite rational and

irrational numbers are there
between two rational num
bers, so number ofrational
numbers between 1 and 100 is
infinite.

The H.C.F. of any two cons

Sol: The greatest number formed

by the digits 6 2, 0, 3, 8 is
86320 and the small est num
ber formed by the digits 6 2,
0,3,81is 20368. The difference
between these numbers is
86320-20368= 65952.

The scale of a map is
1:30000. If two cities are
4cm apart in the map then
the actual distance between

ecutive even integers is? them is?
1.1 22 33 4.4 1.1.2m2. 1.2km
Ans:2 3.10.2 km 4.10.2km

Sol:The H.C.F. of any two conse

cutive even integers is 2. Exa
mple: Let 18 and 20 are two

Ans:2

Sol: Given the ratio 1:30000, let

the actual distance between

consecutive even numbers them is

prime factorization 18 =2 x 3 1.5 2.3 3.6

x 320 =2 x 2 x5, common 4.384615 Ans:3
factor is 2..The H.C.F. of 18 y then ﬁ = % = SEeBeER

and 20 is 2.

. The smallest number that

must be added to 321727, so
that the resultant exactly
divisible by 3 is?

=>y = 4 X 30000 = 120000 cm
(* 1km = 100 X 1000 ¢m)
. _ 120000

= km=> 1.2km
100000

10. %: 0.384615 is a non-

13 2.4 terminating repeating decimal
3.1 4.2 Ans:4 then its periodicity is?
Sol:Given number is 32127 %5 23 3.6 4. 384615
Ans: 3

sum of the digits of the given
numberis 3+2+1+7+2+
7 = 22. multiple of 3 after 22
is 24, we need to add 2 to 22
to get the sum should be divi
sible by 2.So the new number
321727+2=321729 is exactly

Sol: -1-5-3-= 0.384615 in this given

non-terminating repeating deci

mal the digits 384615 are
repeating they are 6 in number
hence periodicity is 6 and
period is 384615(digits which

divisible by 3. are repeating).
6. Number of integers lie 11.If \2 = 1.414 then the value
between 35? and 362? of \/(3/24) is?

SPECIAL
ALy

2.0.5335

1.3.535
3.0.3535 4.0.352
Ans:1
Sol: Given V2 = 1.414
JE: 1L V144 a0a5
24 8 22 4 4

12. Which of the following is a

prime number?
1.331 2.481
3.437 4357 Ans:1

Sol:331 is a prime number
481=13x 37
437=19x23
357=3x119

13. Sum of two numbers is 95.
If one number exceeds the
other by 3, then difference
of two numbers is?

1324 35 46 Ans:1

Sol: Let the two numbers be x and
y according to the sum x +y
=95, and x = 3+y then we
have 3+y +y = 95 =>4y =95-
3=>4y=92=>y = 92/4 = 23
then x=3+y=3+23=26
now the difference of the two
numbersis 26-23 = 3.

14. The HCF of two numbers is
6 and their LCM is 36. If
one of the numbers is 12
then another number?

1.16 2.20 3.22 4.18
Ans:4

Sol: Given HCF of two numbers
= 6, LCM = 36, one number
=12 let other number = X, we
know that Product of two
numbers=LCM xHCF,

36x6
XX12=36 x6=>x= " =18

15. A daily newspaper is pub
lished with 16pages. If every
day 15,020 copies are pri
nted then number of pages
printed in a day are?

1.2,45,320  2.2,40,320
3.2,32,400  4.2,46,320
Ans:2
Sol: Number of newspapers

15,020 number of pages in ea
chpaper = 16, total number of
pages printed

16. =15,020 x 16 = 2,40,32016.
The product of two numbers
is 3276. If their HCF is 6

then LCM?
1.546 2.645
3.540 4.640 Ans:1

Sol:Given the product of two
numbers = 3276, HCF of two
numbers =6, LCM =?
we know that LCM x
HCFProduct of two numbers

—SLCM product of the two numbers

HCF
=>LCM =27 = 546.

17. Difference of rational num
ber and its reciprocal is 8/3
then the numbers are?

1.-3o0r: 2 —qor=
. 301‘31 4 40r34
3. 3or— 4. 4or—
Ans: 3

Sol: Let the number be x, and its
reciprocal is % then the difference
]

between them = x—~ = 2
x 3

=>x:_~I :g:>3 (x* —1) = 8x
=>3x% —8x—3=0
where a=3, b = -8, ¢= -3 then
N e
- 2a

o =81 —4(31(—3)
=> x = ZCBEV () 4(3)(-3)
2(3)
8 /64436
= N=—
2(3)
m oy BRVI00__ 810
TTRT 2@ 7T 209)
st B0 o e o S10 L
= 2@ 3 T 3

-1
SOX=30r—.

18. These are two pairs of twin
prime numbers in three pri
me numbers. The product of
those three numbers is?
1.2145 2.693
3.105 430  Ans:3

Sol: the product of the given numbers

30=2X3X5

105=3X5X7
693=3x3x7x1

2145=3 X 5X 11 X 13

twin primes means the difference
between the two prime num
bers is 2. In the question
given 2 pairs of twin primes
means (3, 5) and (5, 7) so the
required number is 105.

19. The number should be

subtracted from _—: to get —1is?

-12
7

..
|
e
alm
w
ali

Sol: Let the number should be
subtracted from (-5)/( 7)be x,
then according to the sum,

20. The three numbers are in the
ratio 1:2:3 and their HCF is
12 then the numbers are?
1.20,40,60 2.36,18
3.510,15 4.1224,36

Ans:4Sol:Given the ratio of 3
numbers is 1:2:3 and their
HCF is 12 let the three
numbers are 1x, 2x, 3x then
their HCF is Ix=12=>x=12
then 2x =2(12) = 24 and 3x=
3(12) =36. The numbers are
12, 24, 36.

21. In the given product
(6)19%(35)17x(11)?7 the total
number of prime factors are?
1.81 2.54 345 4.64

Ans:1

Sol: Given(6)!°x(35)17x(11)%
=(2x3)10x(7x5)17x(11)¥
:210><310><717><517><1127t0ta1
number of prime factors are
10+10+17+17+27 = 81.
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